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1 Parity checking and encryption are used when data is transmitted over a Examiner Only
peer-to-peer network. Marks

(a) Describe the main features of data encryption.

[4]

(b) Describe the main features of a peer-to-peer network.

[4]

(c) Explain how parity can be used to detect and correct errors in data
transmission.

[6]
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6078

Communication standards have an important role to play in networked
systems.

(d) Explain why communication standards are required.

[2]

(e) Describe the main features of the Open Systems Interconnection
(OSI) model

[6]
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2 A company has purchased a widely used ICT application. A hard copy of Examiner Only
the user guide is available for employees. aarks

(a) Describe three of the main contents of a typical user guide.

1.

[6]

(b) Identify four advantages of using an on-line user guide rather than a
hard copy.

1.

[4]
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(c) Explain how employees could get help from a user group. Examiner Only

Marks

[4]

(d) Explain how ICT can be used to help train a new employee to use the
application.

[4]
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3 Ina command line interface, a word processing application is opened as
shown below.

C:\>RUN WORDPRO.EXE

(a) By referring to this example, explain what is meant by

A prompt

[2]

A parameter

[2]

(b) Describe two ways in which an application can be opened using a
typical GUI.

1.

[4]
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(c) Computer users are sometimes provided with ergonomic keyboards. Examiner Only

Marks

Explain what is meant by ergonomics in this case.

[4]

(d) Apart from ergonomics, name and explain one other factor which
influences human computer interaction.

Factor

Explanation

[4]
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4 Employees with access to a company’s network must sign an “acceptable
use” policy.

(a) Describe the main contents of a typical “acceptable use” policy.

[4]

(b) The company must comply with Data Protection legislation.
Name and describe two other laws relating to ICT.

Law

Description

Law

Description

[6]

6078 8

www, StudentBounty.com
-Homework Help & Pastpapers

Examiner Only

Marks



http://www.studentbounty.com

(c) ICT professionals may become members of the Association for Examiner Only
Computing Machinery (ACM). Marks

Describe two benefits of membership of the ACM.

1.

[4]

(d) The increasing use of ICT has resulted in changing work patterns.

Describe the impact of ICT on employees working from home.

[6]
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5 A supermarket uses a relational database for its stock control. Examiner Only
Marks

(a) In the context of a relational database, explain what is meant by

Data redundancy

[2]

Data independence

[2]

(b) Two of the entities in the database are PRODUCT and SUPPLIER.

Each product may be supplied by more than one supplier. Each
supplier may supply more than one product.

Draw an entity relationship (ER) diagram for these entities that does

not contain a many-to-many relationship. Indicate clearly the key
fields.

[8]
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(c) The supermarket uses a Management Information System (MIS) and Examiner Only
a decision support system. Marks

(i) Explain what is meant by a MIS.

[4]

(i) Describe the main features of a decision support system.

[4]
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6 (a) An information system can be developed using prototyping. Examiner Only

Marks

Describe the main features of prototyping.

[6]

(b) Identify four advantages of off-the-shelf software over a custom-built
package.

1.

[4]
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(c) CASE tools can be used during system development. Examiner Only
Marks
Write a report explaining how the use of CASE tools can lead to
* Improved software quality

* Reduced development time

[9]
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